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[1-5] Read the passage and answer the questions.

In this newly emerging economic order, workers sometimes organized to protect their rights and traditional ways of life. Craftworkers
such as carpenters, printers, and tailors formed unions, and individual unions came together in the National Trades’ Union in 1834. The
labor movement (Dgathered some momentum in the decade before the Panic of 1837, but in the depression that followed, labor's strength
collapsed. During hard times, few workers were willing to strike or engage in collective action. And skilled craftworkers, who @
spearheaded the union movement, did not feel a particularly strong bond with semiskilled factory workers and unskilled laborers. More
than a decade of (Dagitation did finally bring a workday shortened to 10 hours to most industries by the 1850's, and the courts also
recognized workers’ right to strike, but these gains had @ immediate impact.

1. Which of the following statements about the labor movement of the 1800's is inferred?
@ It was most successful during times of economic crisis.

@ Its primary purpose was to benefit unskilled laborers.

@ It was slow to improve conditions for workers.

@ It helped workers of all skill levels form a strong bond with each other.

2. Which is the closest in meaning to the underlined @ ‘gathered some momentum'?
@ became active @ caused changes ® combined forces @ made progress

3. Which is the closest in meaning to @'spearheaded’?
(D accepted @ changed @ led @ resisted

4, Which is the closest in meaning to @ agitation’?
@D expertise @ disturbance @ prosperity @ tolerance

5. Which of the following best fills in the blank @ i
D a few @ a little @ a lot of @ little

[6-10] Choose group of words that best completes the sentence.

6. My daughter the chicken pox on her third birthday.

D got around @ got through @ came down with @ came up with
7. My new calculator is so complicated that I can't how to use it.

@D bring up @ brush up on @ catch on @ figure out

8. If a new movie catches on,

D very few people go to see it. @ a lot of people go to see it. @ it's easy to understand. @ it ends quickly.
9. She spends all her money on her children and manages to new clothes for herself.

@ come across @ die down @ go without @ mix up

10. The sign “+” in an arithmetic problem “addition.”

@ makes up @ lets down @ thinks out @ stands for

SHUAXL Sl



Al gk A5 T
*"’ sahE) | TS [ me ) N Y =
st Mz X}l

O O % O

[11-14] Read the passage and answer the questions.

| David Smith worked primarily in iron, exploring its possibilities more fully than any other sculptor before or since. To Smith, iron
spoke of the power, mobility, and vigor of the industrial age. Smith was born in Indiana in 1906, the descendant of a nineteenth-century
blacksmith. His iron sculptures flowed naturally out of the mechanized heart of America, a landscape of railroads and factories. As a
child, Smith played on trains and around factories, as well as in nature on hills and near creeks. He originally wanted to be a painter,
but after seeing photographs of the metal sculpture of Picasso in an art magazine, he began to realize that iron could be handled as
directly as paint.

Many of Smith's sculptures are “totems” that suggest variations on the human figure. They are not large iron dolls, although
(Dseveral have “heads” or “legs.” Still, they forcefully convey posture and gesture. Their message flows from the internal relations of
the forms and from the impression of tension, spring, and alertness set up by their position in space.

Later in his career, Smith produced two series of sculptures in stainless steel: the Sentinels in the 1950s and the Cubis in the 1960s.
He also began placing his sculptures outdoors in natural light, where the highly reflective stainless steel could bring sunlight and color
into the work. In the late afternoon sun, the steel planes of the Cubis reflect a golden color; at other times, they have a blue cast. The
mirror-like steel creates an illusion of depth, which responds better to sunshine than it would to the static lighting of a museum.

11. Which of the following can be inferred about David Smith’s background?
@ He gained experience while working in a blacksmith factory.

@ His childhood exposed him to the uses and possibilities of iron.

@ His early sculptures revealed his desire to be a landscape painter.

@ He first learned about metals by seeing pictures in a magazine.

12. What does the word Mseveral refer to?
@D dolls ® forms @ sculptures @ variations

13. What can be inferred about the Sentinels and the Cubis?

@ They are the best-known examples of Smith’s “totem” sculptures.

@ Smith originally intended to use iron instead of stainless steel.

@ The Sentinels are made of blue steel, and the Cubis are of gold steel.
@ They each consist of a number of pieces placed in outdoor settings.

14. Which of the following can be inferred about David Smith’s works?

D His metal sculptures are more interesting than are those of Picasso.

@ His sculptures attempt to portray the proportions of the human body.

(® His pieces capture the power of industry and the beauty of natural light.
@ His works are best appreciated when viewed all at once in a museum.

[15-18] Choose the suitable expression to complete the text below.

An exchange of smiles, in a shop or between a parent and child seems to be a simple act, 15) with those individuals,
a smile can have powerful physical and emotional effects 16) a reduction in stress-related cardiovascular response.

17) , smiling creates a sense of trust and social wellbeing which spreads outward to others. Smiling may not solve
the world’'s problems, but it is the foundation of something that will outlast them, 18) , the cooperative basis of
human society.

@ furthermore 2 however @ such as @ that is to say
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[19-25] Choose the letter of the underlined word or group of words that is not correct in terms of grammar or
meaning.

19. Einstein's theories have made many important technological developments which we now take them for granted possible.

@ @ @ @
20. When absent through illness, the company pays you your full salary for six months.
D @ @
21. Due to the current slow economy, the competition for jobs will increase unanimously.
@ @ €] @
22. Though sporadic interest in regional dialects has existed for centuries, the first large-scale systematic studies did not take
@ @ ®
place by the nineteenth century.
@

23. The revenues of the second quarter are expected to rise numerously thanks to the promotional offer.
@ @ &) @

24. Advancement within the firm is anonymously determined by the employee’s ability to consistently add value to our firm.
@ @ @ @

25. If T had gone to the party last night, I would have been tired now.
@ @ ® @
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